Time-dependent ROC curve Time-dependent ROC curve
< e J
@ | @ |
= (=]
©
£ 3 £ =1
] B
8 =4 3 =4
N o4
o —— AUC at 1 year : 0.51(30.07-6381) c —— AUC at 1 year : 0.5(25.23-74.77)
—— AUC at 3 years : 0.56(48.24-63.88) —— AUC at 3 years : 0.61(50.44-71.73)
o | AUC at 5 years : 0.62(54.04-69.8) o | AUC at 5 years : 0.61(51.82-70.96)
o L o Tl
T T T T T T T T T T T T
0.0 02 04 06 08 10 0.0 0.2 0.4 06 08 1.0
1-Specificity 1-Specificity
== Low-nsk score == High-nsk score
=k Low-iisk score == Highrisk score
1.00
2 1.00
3 0.75 £
a 7
g 3 075
& 050 o
= & 050
[ -
£ 8
[4 025 ;
a p=04 £ 0250 o044
L2
0.00 0.00
0 2000 4000 8000 [] 500 1000 1500 2000
Days Days
Number at risk Number at risk
Low-risk score| 231 86 9 1 Low-risk score| 202 162 59 13 1
High-risk score| 211 73 4 0 High-risk score] 196 148 44 11 0
0 2000 4000 6000 [ 500 1000 1500 2000
Days Days

Supplement Figure 1. (A) ROC curves of risk score in the GSE31210 recurrence-free survival
cohort. (B) ROC curves of risk score in the GSE31210 overall survival cohort. (C) Validation of
overall survival between low- and high-risk groups in the GSE68465 cohort. (D) Validation of
overall survival between low- and high-risk groups in the GSE72094 cohort.



